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3.

Python {X#%

v g R R M TAZHEM Newton 1Y

impo

impo

e=ma

def

def

def

def

def

def

def

x0=0
y0=0
prin

prin

rt numpy as np

rt math
th.e
f1(x,y):

return (x+3)*(y**3-7)+18

f2(x,y):

return math.sin(y*ex*x-1)

dxf1(x,y):

return y**3-7

dyfi(x,y):

return 3*x*y+9*yx*2

dxf2(x,y):

return y*math.cos((y*xe**x—1)*e**x)

dyf2(x,y):

return math.cos((y*e**x-1)*e**x)

Newton(f1,f2,y0,x0,tol=1e-6,frequency=0) :

x1=x0
y1=y0
toll=1
while (tol<toll):

A=np.linalg.inv(np.array([[dxf1(x0,y0),dyf1(x0,y0)], [dxf2(x0,y0),dyf2(x0,y0)1]1))

B=np.array([[£1(x0,y0)], [£2(x0,y0)11)

X=A0-B
x1=x0+X[0,0]
y1=y0+X[1,0]
toll=abs (x1-x0)
x0=x1

yO=y1
frequency=frequency+1
print (" F{}K, KRE

return x1,yl

CCERERER: )
t (Newton(£f1,£2,y0,x0))

7: {}'.format(frequency, toll))
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y(0) =1
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3. Python {£#%

R TR

import numpy as np

import matplotlib.pyplot as plt
def f(x,y):

return 1+(x-y)**2
t0, tf, x0, h =2, 4, 1, 0.1

def euler_method(f, tO, tf, yO, h):
n_steps = int((tf - t0) / h)
x = np.linspace(t0, tf, n_steps + 1)
y = np.zeros(n_steps + 1)
yl[o] = yo

for i in range(n_steps):

yli + 1] = y[i] + h * £(y[i], y[il)
return x, y

def runge_kutta_4(f, t0, tf, yO, h):
n_steps = int((tf - t0) / h)
x = np.linspace(t0, tf, n_steps + 1)
y = np.zeros(n_steps + 1)
y[o] = yo

for i in range(n_steps):
k1 = h * £(x[i], y[i])
k2 = h * £(x[i] + h/2, y[i] + k1/2)
k3 = h * f(x[i] h/2, y[i]l + k2/2)
k4 = h * f(x[i] h, y[il + k3)
y[i + 1] = y[il

+
+
+
+

return x, y

x_rk, y_rk = runge_kutta_4(f, tO0, tf, x0, h)

print ("Runge-Kutta:")
print("t =", x_rk)
print("x =", y_rk)

x_euler, y_euler = euler_method(f, tO, tf, x0, h)

print ("Euler:")
print("t =", x_euler)

print("x =", y_euler)

def func(x):

return x+1/(1-x)

x = np.linspace(l, 5, 400)
y=func(x)
plt.plot(x, y, label='Function')

(k1 + 2*%k2 + 2xk3 + k4) / 6
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plt.
plt.

plt.

plt
plt

X =

xlabel('X')
ylabel('Y')

scatter(x_euler, y_euler, color='red')

np.linspace(l, 5, 400)

y=func(x)

plt.

plt.
plt.

plt

plt.
plt.

plot(x, y, label='Function')

xlabel('X')
ylabel('Y')

savefig('# ¥ 77 7% \math201-latex-report-main\math201-latex-report-main\images/Figure_2.png')

show ()

.scatter(x_rk, y_rk, color='blue')

.savefig('#{ ¥ 77 1 \math201-latex-report-main\math201-latex-report-main\images/Figure_1.png')
.show ()
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WA, BRI

=\ /N _[O)RA

FERRZ Ja (BRI 5 B X 2 W I B At th T 3R o AR T W=c te2! 5. $RHTT
(IR RAR DA S 222 30 o R 2 9T BTG B2 4 15ng/mil, A8 FR ARSI 07 R SR R 2845 TH 245047 2%
PRI 1] o

/NI | WREE (ng/ml) | /N | HREE (ng/ml)
1 6.2 6 13.5
2 9.5 7 13.3
3 12.3 8 12.7
4 13.9 9 12.4
) 14.6 10 11.9

1. B9t R

FE AR 25 5 AR /N IR P2 2 (10 245 ) ML VAR P 1) DR R A PSR W=y e 0o SRJA A 0k il
RNV GEE AR S-3 iR

2. BEHHEFE

1 1nl 1 In6.2
1 1n2 2 In9.5
1 In3 3 In12.3
1 In4d 4 In13.9
A 1 Inb 5 = In14.6 (6)
1 In6 6 In13.9
1 In7 7 In13.3
1 In8 8 In12.7
1 In9 9 In12.4
11 In10 10] In11.9

3. Python X%

import numpy as np

import math

import matplotlib.pyplot as plt
from scipy.optimize import fsolve

list=[6.2,9.5,12.3,13.9,14.6,13.5,13.3,12.7,12.4,11.9]

A=np.array([[1 for i in range(1,11)], [math.log(i) for i in range(l, 11)],[i for i in range(1l, 11)]]1)
Ln_list=np.array(list).reshape(10,1)

Ln = np.log(Ln_list)

In_t=np.array([math.log(i) for i in range(1l, 11)])

A=A.T
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In_t=1n_t.reshape(-1, 1)
B=np.dot(np.linalg.inv(A.T@A), (A.T@(Ln-1n_t)))
print(B)

def func(x,B):
return np.exp(B[0])*x*np.exp(B[2]*x)

x = np.linspace(1l, 10, 400)
func(x,B)

m=([i for i in range(l, 11)1)
plt.figure(figsize=(10, 6))
plt.scatter(m, list)
plt.plot(x, y)
plt.xlabel('x')
plt.ylabel('y')

plt.savefig(' %4t # 77 12 \math201-latex-report-main\math201-latex-report-main\images/Figure_3.png')
plt.show()
def dtfunc(x,B):
return B[0]#*np.exp(B[2]#*x)+B[0]*x*B[2]*np.exp(B[2]*x)
def bisection_method(B, a, b, tol=le-6, max_iter=1000):
if dtfunc(a, B) * dtfunc(b, B) >= 0:
print(" L")
return "Not found"

for _ in range(max_iter):
c=(a+b) /2
if abs(dtfunc(c, B)) < tol:
return c
elif dtfunc(a, B) * dtfunc(c, B) < O:
b=c
else:
a=c
a, b =1, 10
root = bisection_method(B, a, b)
print(£" HAMER t K4 W : {root}")
print(f" FAEM W A% %: {func(root,B)}")

def funcy(x, B, target_y):
return np.exp(B[0]) * x * np.exp(B[2] * x) - target_y

x4 = fsolve(lambda x: funcy(x, B, 4), 1)
x4 _value = x4[0]

x15 = fsolve(lambda x: funcy(x, B, 15), 1)
x15_value = x15[0]

x42 = fsolve(lambda x: funcy(x, B, 4), 20)
x42_value = x42[0]

x152 = fsolve(lambda x: funcy(x, B, 15), 2)
x152_value = x152[0]
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print (£" A W H{x4_value}~{x15_value} # {x42_value}~{x152_valuel}")
N=func(root,B)/2

x_2 = fsolve(lambda x: funcy(x, B, N), 15 )

x_2_value = x_2[0]

print(f" ¥ 7 # H{x_2_value}")

4. LRI

K 3 b RG

¢; = 1.98226312¢c, = —0.16578157

MBI ¢ KRZ74: 6.03203010559082

BRAER W KZ)4: 16.10850379

BHRINN 0.6096298142605157 4.031463144680515 % 22.329978241837967 4.031463144680695
WA 16.155879045706158

B S TR EEEHE
H pg(A) o 6 AR 2 5150
pe(A) = bgA® + by A5 + by A* + by A3 + by A% + by A+ by 1.
HEH M pg(A) KB, BORAEMRER D (R A 3 IR, 50
TR HE TR

1. BEYhERE
BT M = A2 AR NI/ T8 5 Ak

2. BEWEAZE

LR =
Pg(A) = A?{A%[bg A% + by A+ by + b A+ by} + by A+ byl (7)



IS

© o N o v

10

11

12

13

RS AR BUE TS 1%k P4 XUV P 20222421

3. Python {£#%
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HFEH—MTEOEAEF, BEREGRERTRD (RFRA 3 KEERE), ATHLENELESLE, '

import numpy as np
A=np.array([[1,2,3,4,5,6],[1,2,3,4,5,61,[1,2,3,4,5,6],[1,2,3,4,5,61,[1,2,3,4,5,6],[1,2,3,4,5,611)
b=np.zeros(7)

b=[1,1,1,1,1,1,1]

M=AQA

P=Me (M@ (b[6]*A+b[5])+b[4]*A+b[3])+b[1]*A+b[0]

print (P)

4. RS
i 4n

[1,2,3,4,5,6]
1,2,3,4,5,6
1,2,3,4,5,6
1,2,3,4,5,6
1,2,3,4,5,6

11,2,3,4,5,6)

b=[1,1,1,1,1,1,1] A=

|
~

B, B4R

(%

(389846, 584769, 779692, 974615, 1169538, 1364461 |
389846, 584769, 779692, 974615, 1169538, 1364461
389846, 584769, 779692, 974615, 1169538, 1364461
389846, 584769, 779692, 974615, 1169538, 1364461
389846, 584769, 779692, 974615, 1169538, 1364461
1389846, 584769, 779692, 974615, 1169538, 1364461 |

T 3 YIRS,

HUGHE
A2
BUGHE
A?[bgA? + bs A+ b,
HEUGHE

A?{A%[bgA? + b5 A + by] + by A + by}
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